YA ABCD oflA] £A, £C & o] 574
AB, CD g].nh,].l— .8 2 71—71—E F ﬂ-
o}, AB = 6cm, BC = 4cm, Z/ADC =
° Y wj, DAECF ¢] Ed]9] Zdo]=?
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@ 10cm @)}12cm ® 1l4cm

@ 16cm ® 18cm

S5 \
AADF, ABEC oA AD = BC, DF = BE, /EBC = /ADF
o|B & SAS §-50]1 pAECF += H Aot}

(ADF = 60°, /BAD = 120°, /FAD = 60° |22, /AFD =
60° o]lB =2

AADF, ABEC &= A4z o|tt,

AE=AB-BE=6-4=2 (cm) o]t}

J= B2 YPAYP AECF 9 =d=
AE4+ECHCF+AF=2+4+2+4=12(cm) °Jth




= HYAP ABCDof|A /BAC 9] o] 5&A o] BC 2l 4
Uil AF =5, AB =6, OC =39 1|, AACE®] & 514

4= Al
?

@ 20 @ 21 3)22 @ 23 ® 24

(AFB = (CFE, (BAF = (FEC©°|1, BF = FCo|BE=&
AABF = AECF o]t}
Wb AACES] E3E=6+6+5+5 = 220|ch




o IH9] BPARE ABCD oA BE = __-10em._
CE ©]1 AD = 10cm,AB = 7cm ¢ W,DF .
o] dol=? Tem

® 7cm @ 9cm (@)14(:111 B
@ 16cm ® 18cm

B ~

AABE = AFCE,AB = FC = 7cm
~.DF = DC + FC = 14(cm)




2 197 22 HPAPHY ABCD oA H 0 = F tZ
olt}, AE: EB = 3: 1 9|1 AAEO 2] Ho]7} 18 & of|, HPA}
ABCD 9] Hol=?

® 6 @ 18 ® 24 @ 48 @96

AAOE ¢} ABEO ©f|A] &=o]&= 23l @Ho] 3: 1 0]B2 AAOE :
ABEO =3:1
-.ABEO = %AAEO =6

AAOB =6+ 18 =24
- OABCD =4 x AAOB = 24 x 4 = 96 ©|th.




5. o2 I¥T 22 HYPAHHY ABCD oA AD = 15cm, APAB +
APCD = 30cm? & ], AH ] Zo]=?

A D

B H C

@ 2cm @)}4cm ® 6cm @ 8cm ® 10cm

UH o] g A poj tjsto] %DABCD = APAB + aPCD =

APAD + APBC ©]|t}.

APAB + APCD = 30cm? 0| B2 FaPAPHF o] Hlo]=30x2 =
(60cm?) o]},

7}22] Zo] AD = 15cm©| 22 ADXAH = 15xAH = 60(cm?)
oltt.

- AH = 4(cm)©|tt,




AAAFABCD O ofF2 =gl dol= A . B . D
? 7/

® 22 @24 ® 26 @ 28 ® 30

AE=FC, AE//FC st2 &
OAFCE & H Aol
CF=4°|E2 DAFCE =4x6 = 24




® AB=DC, AD =BC

@ /A =120°, /B=60°, /C=120°
® /A = /C, AB//DC
(@)AB = DC, AD//BC

® OA =0C, OB = 0D

AB//DC? 7

© AB = DC o]o]oF AtZ+d ABCD = B PAH
ol
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® EH//FG

@ EF = 5cm

® At EFGH 9] 49| 4ol 20cm ©]th
@Wﬁé EFGH 9] Y o]+ 25cm? o]t}

® A4 EFGH & nhE o]t

=

A2}
ol

EFGH 9] Yol At
i Zko|ch,

ABCD o)A =LA g] 9] AFz+a o]
(6x8)—4x <%x4x3) = 48 — 24 = 24(cm?)




9.

2o PR ABCD oA A E, F= 22 BC, DC 9] S o|th.
OABCD = 80cm? ¥ ©], AAEF 9] {o]&2 dghe 709

D
F
B #f E 0 C
@ 10 (cm?) @ 20 (cm?) 3)30 (cm?)
@ 40(cm2) ® 50(Cm2)

1 1
AABE = ZDABCD =1 80 = 20 (cm?),
1
AAFD = ZDABCD =20 (sz) s

AFEC = éDABCD = % x 80 =10 (ch),

.. AAFE
= 0ABCD - (AABE + AAFD + AFEC)
=80 - (20 + 20 + 10) = 30 (cm2)




10. ©& 13oA Atte]E ABCD = AD//BC,A0: CO=1:20°]1
AFh2]ZE ABCD 9] Yol 27cm? € ©, AABO 9] Hol=?

A D
(9)
B C
D)6cm? @ Tcm? @ 8cm?
@ 9cm? ® 10cm?

S5 ~
0ABCD = AAOD + ADOC + AOBC + AABO °]t}.

AAOD 9 HolE gl 6HH, 1:2=a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?




